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public class StaticTest {

double d;
static void display() {

}

System.out.printin(“Hello”);

public static void main(String [ Jargs) {

display();

StaticTest.display();

StaticTest s = new StaticTest();
s.display();

public class StaticTest {
staticinti1=1;
static void display() {
System.out.printin(“Hello”);

}

public static void main(String [ Jargs) {
display();
StaticTest.display();
inta =
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public class My Type {

}

int i;

double d;

char c;

void set(double x) { d = x; }

double get() { return d; }

public static void main(String [ Jargs) {
MyType m = new My Type();
MyType n = new MyType();
m.set(1);
n.set(2);

}
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« BRAM)IE K%L (Default Constructor)
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o [n]h :

Integer i1 = new Integer(11235);
Integer i2 = new Integer(“11235”);
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o PRIZEZ (I\/Iethod Overloading)
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int print_int(int *a);
int print_str(const char® s);
int print_struct_A(const struct A *t);

int print_struct_B(const struct B *t);
int print_struct_C(const struct C *t);
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int print_int(int *a);
int print_str(const char™ s);

print - it print_struct_A(const struct A "t);
int print_struct B(const struct B *t);
int print_struct C(const struct C *t);

XFEENRIES -
- we will say: wash the shirt, wash the car, wash the dog
- we won't say: shirtWash the shirt, carWash the car, dogWash the dog
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int print_int(int *a);
int print_str(const char™ s);

int print_struct_A(const struct A *);
int print_struct_B(const struct B *t);
int print_struct_C(const struct C *t);
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int print(int *a);
int print(const char* s);

int print(const struct B *t);
int print(const struct C *);

(
(
int print(const struct A *t);
(
(

Java BREXFF?
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public class Printer {

void print(int x) {
System.out.println(“print an integer: ” + x);

}
void print(MyType m) {
System.out.printin(“print a MyType: ” + m.get());

public static void main(String [ Jargs) {
Printer p = new Printer();
p.print(3);
p.print(new MyType());
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Integer i1 = new Integer(11235);
Integer i2 = new Integer(“11235”);
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o print(inti, Strings) { ... }
o print(String s, intl){...}
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void f() { }
int f() {return 1;}

int x = f();
f();
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public class PrimitiveOverloading {

void f(char x) { System.out.printin(“f(char)”); }
void f(byte x) { System.out.printin(“f(byte)”);
void f(short x) { System.out.printin(“f(short)”); }
void f(int x) { System.out.printin(“f(int)”); }
void f(long x) { System.out.printin(“f(long)”); }
void f(float x) { System.out.printin(“f(float)”); }
void f(double x) { System.out.printin(“f(double)”); }
public static void main(String [ Jargs) {
PrimitiveOverIoading p = new PrimitiveOverloading();
p.f('a’);
byte x1 = 0; p.f(x1
short x2 = O p.f(x
f

5
p.f(3): p. f(3L) 3.

(3.0f): p.f(3.0);
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public class PrimitiveOverloading {

// void f(char x) { System.out.printin(“f(char)”); }

void f(byte x) { System.out.printin(“f(byte)”); }

void f(short x) { System.out.printin(“f(short)”); }

void f(int x) { System.out.printin(“f(int)”); }

void f(long x) { System.out.printin(“f(long)”); }

void f(float x) { System.out.printin(“f(float)”); }

void f(double x) { System.out.printin(“f(double)”); }

public static void main(String [ Jargs) {
PrimitiveOverIoading p = new PrimitiveOverloading();
p.f('a’);
byte x1 = 0; p.f(x1
short x2 = O p.f(x

f

5
p.f(3): p. f(3L) 3.

(3.0f); p.f(3.0d)
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public class PrimitiveOverloading {

// void f(char x) { System.out.printin(“f(char)”); }
// void f(byte x) { System.out.printin(“f(byte)”); }
void f(short x) { System.out.printin(“f(short)”); }
void f(int x) { System.out.printin(“f(int)”); }
void f(long x) { System.out.printin(“f(long)”); }
void f(float x) { System.out.printin(“f(float)”); }
void f(double x) { System.out.printin(“f(double)”); }
public static void main(String [ Jargs) {
PrimitiveOverIoading p = new PrimitiveOverloading();
p.f('a’);
byte x1 = 0; p.f(x1
short x2 = O p.f(x
f

5
p.f(3): p. f(3L) 3.

(3.0f); p.f(3.0d)
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public class PrimitiveOverloading {

// void f(char x) { System.out.printin(“f(char)”); }
// void f(byte x) { System.out.printin(“f(byte)”); }
// void f(short x) { System.out.printin(“f(short)”); }
// void f(int x) { System out.printin(“f(int)”); }
void f(long x) { System.out.printin(“f(long)”); }
void f(float x) { System.out.printin(“f(float)”); }
void f(double x) { System.out.printin(“f(double)”); }
public static void main(String [ Jargs) {
PrimitiveOverIoading p = new PrimitiveOverloading();
p.f('a’);
byte x1 = 0; p.f(x1
short x2 = O p.f(x
f

5
p.f(3): p. f(3L) 3.

(3.0f); p.f(3.0d)
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- AR EAURFGE (up casting)
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{540 : char — int, byte — short, short — int, int — long,
long — float, float — double

- WK (down-casting)
o T om | B

o REEF Y toString() /7%

- System.out.printin();

PR 3 5 autoboxing/unboxing
- Int and Integer
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public class My Type {
int i;
double d;
char c;
void set(double x) { d = x; }
double get() { return d; }
My Type(double x) { set(x); };

public static void main(String [ Jargs) {
MyType m = new My Type();
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public class MyType {
Lt
Ic?omﬂble d;
char c;
void set(double x) {
d=x;

}

}

double get() { return d; }

public static void main(String [ Jargs) {
MyType m = new MyType();
m.set(1);

}

TR R 5T

public class MyType {

}

Int I,

double d;

char c;

void set(double x) {
this.d = Xx;

}

double get() { return d; }

public static void main(String [ Jargs) {
MyType m = new MyType();
m.set(1);

}
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public class My Type {

}

int i;

double d;

char c;

void set(double d) {
this.d = d;

}

double get() { return d; }

public static void main(String [ Jargs) {
MyType m = new MyType();
m.set(1);

}
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public class MyType {
int i;
double d;
char c;
void set(double x) {d = x; }
double get() { return d; }
MyType increase() {
d++; // this.d++;
return this;

public static void main(String [ Jargs) {
MyType m = new MyType();
MyType n = m.increase();
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double d;
char c;
void set(double x) { d = x; }
double get() { return d; }
MyType increase() {

return Worker.increase(this);

public static void main(String [ Jargs) {
MyType m = new My Type();
MyType n = m.increase();

}

class Worker {
public static My Type increase(MyType m){
m.set(m.get() + 1)
return m;

}
}
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public class MyType {

}

int i;
double d;
char c;
void set(double x) {d = x; }
double get() { return d; }
MyType(double d) {this.d = d;}
MyType(int i) {this.i = i;}
MyType(int i, double d, char c){
this(d);
this.i = i; // can not use this(i) again
this.c = c;

public static void main(String [ Jargs) {
MyType m = new MyType();
m.set(1);

}
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¥ % m
%%X | = 0
d=0 MyType m = new MyType();
class MyType { c=0
int i;
double d;
void set(double x); . 2.0);
double get(): RENL nset(z.0)
| =0
Sf 8 MyType n = new MyType();

5] : set() J5EEMTIX 20 AN R HIXS 5 2
1 GRS ETA ] set() JARY, BRE RIS 7 2% MyType this, FLL
gf;i%iﬁﬂ H set() JHiARIX R . RILAE set() Tk R, this 1821 A ROXS
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public class MyType {

int i;

d

this et
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public class My Type {

double d: int i;
char c; double d;
\éoidb?et(dg[)(l;t{ﬂe 3[<) { dd=}x; } char c:
ouble ge return aq, . . .
public e lboae main(String [ Jargs) { public static void set(MyType t, double x) {
MysTeyt?% m = new MyType(); t.d =x;

)
public static double get(MyType t) {
return t.d;

public static void main(String [ Jargs) {
MyType m = new My Type();
MyType.set(m, 1);
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MyType a = new MyType();

o 5 XTSI T
int b = a.i; a.set(); a.get();
o HHEEXT G
- Java H3H%
- Bl pLH (Garbage Collection)

« new = malloc
o NTELH free()
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public class Resource throw IOException{
int i;
BufferedReader f;
Resource() {1 = 0;}
void open() {
f= new BufferedReader(new FileReader(new File(“a.txt”)));

String readLine() { return f.readline();}

public static void main(String [ Jargs) {
Resource r = new Resource(); R4 B35

"-open(); A B R
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public class Resource {
int i;
BufferedReader f;
Resource() {1 = 0;}
void open() {
f= new BufferedReader(new FileReader(new File(“a.txt”)));

String readLine() { return f.readline();}
void close() {
f.close();

public static void main(String [ ]args) { B
Resource r = new Resource(); KRG EINSHES / B (B EL )

r.open(); B BRI
?.'c.:iose(); R 22 E W



LRI AF




TSRO R

o 1[I (Garbage Collection, GC)
- XTRE) 5 %
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- 51 %k 0 i Java RERWLE® SR id A ] Bl

String s = new String(“hello”); S t
String t = new String(“world”); ﬂ
S =t
hello » world

1. W25 "hello” 1%t 4 AT Ik 3% 0 31 % 2
2. J 5 S 2

ol
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« Garbage collection = free()
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- 2 finalize() 7%
o XHZN GHEATEIR U T, P finalize() 7592
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o G {d H finalize() J7i2
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- % 2: stop-and-copy
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- MR 51 & nT LR 2 e i 200 &

o FHRE|I—NMEBONR, KHEE VB Hi—NE X (copy)
e« U S A
o MBI AREEIRE PR 45 1L (stop)
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o JVM Grfe] S B 57 3 [A ]
- Hik 4.
« 454 stop-and-copy, mark-and-sweep
o MR G AL i ] stop-and-copy
o YARE LRI B mark-and-sweep
- AT AW R 545 o re A B IR
o REZH G BB
o AN G F AL (generation)
- &7 1 Z /D IRbi AR AR
o FRYEAEAFE AL

- A7 R BB NI % - 8 stop-and-copy
- A7 AR % - ¥ A mark-and-sweep

adaptive generational stop-and-copy mark-and-sweep
garbage collection

http://www.oracle.com/webfolder/technetwork/tutorials/obe/java/gc01/index.html
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public class InitialValues {

}

boolean t; // false
char c; // \u0000'
byte b; /10

short s; /0

int i; // 0

long I; /10

float t; /1 0.0
double d; /1 0.0

InitialValues reference:

public static void main(String [ Jargs) {
InitialValues iv = new InitialValues();

}
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public class InitialValues {

}

boolean t = true;

char ¢ = 'X;

byte b = 47;

short s = 0xff;

inti=999;

long | = 1;

float t = 3.14f;

double d = 3.14159;

InitialValues reference = new InitialValues();

public static void main(String [ Jargs) {
InitialValues iv = new InitialValues();

}
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public class MyType {

}

int i;
double d;
char c;
void set(double x) {d = x; }
double get() { return d; }
MyType (int i, double d, char c){
this.i = i;
this.d = d;
this.c = c;

public static void main(String [ Jargs) {
MyType m = new My Type(3, 3.14, 'X');
System.out.printin(m.get());

}
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public class MyType {

inti=1;

void set(double X){d=x;}

double get() { return d; }

double d = 1.0;

My Type (int i, double d, char c){
this.i = 1;
this.d = d

} this.c = c;

charc ="'a";

public static void main(String [ Jargs) {
MyType m = new My Type(3, 3.14, 'X');
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public class InitialValues {

}

static boolean t = true;

static char ¢ = 'x";

static byte b = 47;

static short s = Oxff;

static int i = 999;

static long | = 1;

static float t = 3.14f;

static double d = 3.14159;

static InitialValues reference = new InitialValues();

public static void main(String [ Jargs) {
InitialValues iv = new InitialValues();
}
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public class MyType {
inti=1;
void set(double x) { d = x; }
double get() { return d; }
double d = 1.0;
MyType (int i, double d, char c){
} this.i = i; this.d = d; this.c = c;
char c ='a’;
static int si = 10;
public static void main(String [ Jargs) {
MyType m = new My Type(3, 3.14, 'X');
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